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cr Tre reaction
I2:7 - 2IT - 637 —/ 3I, + 3Hy0

I zzpearance of I, at a particular time and concentration is 3.0 x 10-3 M s-1.

B : ol e of disappearance of I7 in M s-17? N
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2 =Tz Tzzr oz consideration of the followlng reaction system e
JEZS 0 = Tpig) T 28(s) + 2Hy0(g)
z ns rsactlcon Is second order in HpS and first order in 0Ojp.
z Tn= rzzctlon Is first order in HpS and second order in 0Ojp.
c. rzTe = X E58020
o ra2te = 4 I58 02

_zvw Zor the cxidation of the lodide lon by the chlorate Zon in agiscus
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ZI The Tims lg measired Ln seconds and The concentration is in M, what are the, for k?
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2. I FT:z IZz The reaction @A - 0B - ¢C —> dD - eE, the following data were obtained:
Zr.-.2_ Ccncentrations (mol/L) Initial Rate (mol/ (L * min))
=y [ B] [ C]
17 N 0.40 0.20 160
/ szl i 0.40 0.40 80.
/ 2.2l 0.10 0.20 15
[ :f:-’;\f 0.10 0.20 5.0
[u 2= 0.20 0.40 20.
.zl 0.20 0.20 20.
_z7zrmine the orders for each reszczant, A, B, and C. Then determine the value of the rate

zcnstant with proper units.
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£ otTs) For the reaction below, which equation represents € rate of I on?
6CE,O + 4NH3 — (CHp)gNg + 6H0

z, rzze = (1/6)[ ACH50] /At must Se ""’f/‘”h\"

z) rate = -4A NH3) /At mous t be _%

cy rate = -Al (CHp)gNgl /AL s T be =)

g} rate = 6Al Hy0] /At must b e
/S} rate = (1/8)A Hy0] /At
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